e e (f/r;f-j.j ~30/8)

PART-II

MENTAL ABILITY TEST
Hafrar GeraT ene

- @1-19 Y :
fsaas (YAs 5143 fad ywat f&g #at € Directions  there is a number serics following
w=t st ot T, vt f& Aug &) wst &F 398 a pattern. One place is lef: blank. Find out the
et foF o8 u9 feawyt feg" Aot €39 891 correct answer from the options.

L BHLAR craein - T i o E—
a) 15 by 19 a) 15 by 19
¢y 1% dy 23 c) 17 d 23
o2, 11,13,17,09,23,25 . covivsnssions U T L [ B S
a) 26 b) 29 ~a) 26 b) 29
¢) 37 d 27 c) 37 dy 27
AY, - LLARYRY Lo g% VIABDET i
a) 64 b) 9 a) 64 b) 9
c) 125 d 16 ' oy 128 d 16
q4. 28,33,31,36, ... ,39 A4, 28,33,31,36, ...... ,39 ) ,
2) 32 b) 34 a) 32 b) 34
c) 38 d) 40 c) 38 d) 40
- - ar) . [¥) - o . 2 " . : 5"‘?{')
foger (UESYS T6/3et &3 ag niwst/Wa Tt Directions The letters/numbers given below

yat ffa foufes gu dur € »igA'e a1 few gu  follow a defivite patteren. Find out the missing
dYT § YIT 98 el ®UZ Wyd/Ha UsT Fad |  letters/numbers to complete the pattern.

5.  b_a_aab__ab__ 5. b_a_aab_ab__ __
a) aaboa by  ababa a) aabba b)  ababa
c) babab d) abaaa c) babab d)  abaaa
96. 1001 —110_11 46, 1001 —110_11
a) 0 B 110 a) 101 by 110

¢) 100 d) 0l ¢) 100 .d) ol



faaen (Yas (/- 9¢)3aa + 8Y ‘-’, =’ YIBE  Dircetior
“, % HIBE ), ' W3y ¥ I Fat Feasy TS|  means
q7.

q8.

99.

[+15%346-5

a) S5 by &
c) 84 d 47
14%2-6+10+4x2

a) | b) 16
) 4 d) 30

q7.

8.

AT 95 + (3 «, W 4 WF 5 @t wimum feg 99

naaa*—aeqﬁ'aa'ﬁ?é?iwﬁ%'zﬁ'ﬁzsihﬁhhﬁ'ﬁe%?
faast mitges stg 57

a) 5x44+14 =34

b) 5x4+ 14«64
C) 5x4+11-84
d) 5x4+14-74

100 FREN e AT i SuTs Ui wF Ju+ = 100,

T 15T gEvs &1 OF Mg fog s fd&
fefemmadt g=
a) 30
c) 28

31
29

)
d)

o1 fot 3 aTet fE O fofionr (99 rg 3 faprer

Agat a7
a) FIEled by feme
c) HeTIt d T

w73 meet § sgensT T I WEHT a9 MF |y,

€u maw eF froa g7 mas 3 wi@er &

a) Client ~b)  Castle

¢) Dazzle d)  Face
oléh#ﬁia'Eﬂﬁﬁ?a?ﬁﬁ'nﬁ5rva €7 waw €F frogr

IW FEs T e ¥ | ‘

a) KREEMAJI b)  KREEMJI

¢c) KREEMAIJEE d)  KREEMJEE

o

:‘al

(9 7-98)

If *+’ means ‘., if - means G Ex0

“+, “+" means ‘<’ then find correct alternative
11+15%3+6-5

a) 55 by 54
c) 84 d) 47
14%2-6+10+4x2

a) | b) 16
c) 4 d) 30

If the given inter-change namely: Sign + and x,
and numbers 4 and S arc made in signs and
number which one of the following equations would

be correct

a) S5x4+14=34
b) Sxd4+14=64
c) S5x4+14=84
d 5x4+14=74

Jasde=p ranks 15th from the top side and from the
bettomn side in a class. How many students are
there in the class.

a) 30 b) 31

c) 28 d) 29
What is most essential in a train?

a) Driver b)  Engine
¢) Passengers d) Fans

[

Arrange the given words in the alphall)aticél'order
and choosc,t'he word that comes in the second
place.

a) Client

b) Castle
¢) Dazzle d) - Face
InTe

lephone directory which of the following word
will appear at the third place,

a) KREEMAJ] b)
¢) KREEMAJEE d)

KREEMJI
KREEMJEE



. favw st @9 i 6 fad o=t I Afeg I AW oy Hew many Gs are there in the following number

f&g wa 6 I ufasT \a 4 wrger I I segnence which are imediately preceded by 4
g &9 u 2 e J= and followed by 2.
432 526 346 462 123 635 462 734 432 526 346 462 123 635 462 734
a) foa by & a) One b)  Two
c) fax d 99 ¢) Three - d) Four

|o¢ fea fenaat 3 faodt. yow <5 Her J, feg 98 | A man walks 3km towards East. Then turning to
i W F €7 3 fa it sger 31 feg gur his left he walks 3 km. Again turning to his left he
Uw ¥ @ Qo 3 fa it Iuer 71 Iue @8 fﬂg walks 3km. In which direction is he from the starting
3 fema3t g faust ferr fes T point.
a) €39 by UBA a) North b)  Wast
c) TuE d) ydH c) South d)  East

1o Tfaw ¢ faift. Sue =8 wR g5 ¥ feg @9 |0t Waris travels 8km to the south, Then ke tums to

e UH uF wier & g 4 fa it Iwer 3, feg the right and walks 4km. Then again he turns to
€T wrug A U yE e 7 o 8 fa his right and moves 8km fo-waid. How many km
duer 71 wafga/due @@ fig 3 =i fas away os he from the starting point.

fer vt. €t gat T T a) 7km - b)  6km

a) 7 faut. b) 6 fant. ¢) 4km d)  8km

¢) 4 faxt. d) 8 faMt.

feaem (UFS [07-/0¢) T&T f&3 are 25 f&39 § Directins ((07- -/6§)study the following Venn diagram
forrs &8 ug w3 €3 ET@' yEst & €39  carefully and answer the questions.
fe _ BQS

/_‘\\ /'/H\\\
X

Players

arfed Singers
07 Ts fafot fes foaar €39 wfad w3 fAF o7 Which of the following represents boys who are
fugdt 05 UT arfed st 96 § TewgEr 97 _ players but not singers?
a) A by H a) A by H
¢) B d F c) B d F

jvg 5 fefuont fag faoar €399 wifqT fugdt fA9F (¢ Which of the following answer represents players

arfeq &t 76 UF &390 591 96 § Tan@er 97 who are also singers but not boys?
a) F b) E a) F by E
Q) G o H g). G | 4 H



t{Ho

Fet niu fod fad feant e a< ser@eaim
a) 60° b) 80°

c) 175° d)  90°
PRINCIPAL wEe 3 5 fafunr feg fausTrae
&I gerfenr | AaeT

a) APIL k)
¢) PLANE d)

CIPLA
PLAIN

fex gggar vt T UsT IS Uss eraar 31

@?agamhmﬁ.ﬁafa?mfr?

a) 9T b) U¥d
c) T¥=T - d) firgr
€3 o o3 s faatn fagwr o517

/ \\ ;\
\VAVA
a) 7 b) 6

c) 5 d) 8

I eyt feg faozr 939 feforrs, Al=-

fefamis w3 3faa f<famrs fegas sta /T

gIArgEr J1

fagew (ym [/ -1+ ) fegst &S Suer 831

| m

.

a) IS b) ye
c) TIT dy ulsr

[»9 At what angle the minute and hour hand of a clgg)e

are at 370 clock.
a) 60° b) 80°
¢y 25 d) 90°

Which of the following words cannot be forme
from the word PRINCIPAL.

a) APIL b) CIFLA

¢) PLANE d) = PLAIN

An old man’s son is my son’s uncle, then what is
relation of old man to me.

a) Brother b) Son

¢) Grand father d)  Father

How many triangles are in the given figure?

V'V

e) S . d‘) 8

Which one of the following figures represents th
relationship among Science, Biology, Physics

) b
© 69 O "9
(c) .
@ DO "@ Q00

Directions (/% -//%) Find the odd one out.

a) Red b)  Paint
¢) Green d)  Yellow



a) frg w3 2t
b) TH WIF THIS
c) U938
d) T3 W3 w3t

o far 3 fE9 467 T »@¥ “plants are green” T,
485 ¥ MIH “green is good” T, WF 639 TT HIH
“they are playing” &, 35 it feg “plants”

T ¥ oA
a) 4 b) 6
c) 7 d) 3

1. fax 33 9w ff9 F WATER=YCVGT ¥ 3t
8% 3w f@9 FIRE = &5 R
a) REFI b)  ERIF
¢) ILFE d)  HKTG

{)4. fow &= g™ f@9 GUEST § 53@ S2 fafumr
AT T MI MEAN & 6@4# fafour aier T fei
a3 g7 f&€¥ SAME =7 §5 83|

a) 4 6@ b) 46@
c) 36 @ i 5 6@
12, HAF AN=14BM=26 37 CL ........... Tl
a) 38 by 42
c) 28 d 36

20 feg 2ast few € ooa fea e e e @
Ae 751 Hag eadt e87 &7 10 firet ff9 et
39 Fre gt e gadl &8 firet fEg »idt gaatt?

a) 9 fie by sfie
c) _Bﬁ?la @) 4fre

fsoew (Um& (21-;22) € ¥°3 A,B,C,D,E 3 F
Yo fewr, Ia0 @ a09 <% YT 99 & §5 Ta|
ED S ¥F UR T, CAwT B ¥ fduaw 7, FA
A1 BT YT UR &< o7 J7

a) A b) D

¢) E d C

J1S
a) Head and cap
b) Hands and gloves
c) Feet and shoes
d) Dhoti and Chest

74 Incertain code language meaning of 467 is “plants
are green”, meaning of is 485 is “green is good”
and meaning of 639 is “they are playing” How is
“plants™ written in that code language.

a) 4 by 6
c) 7 d 3

/I'F  Ina certain code language. If WATER=YCVGT
then find the code of FIRE.
a) REFI b)  ERIF
¢) IRFE d) HKTG

/12 In a certain code language GUEST is written as
53@ 2and MEAN is written as 6 @ 4 #. How is
SAME written in that code?

a) 4 6@ b) 46@
¢y 36@ d 5 6@

Ji1+ 1FAN = 14, BM = 26 then CL is ...............
a) 38 by 42
c) 28 d 36

| x2 . Flowers in a basket get doubled in every one minute.
If the basket gets fully filled in 10 minute than in
what time vzas it half filled
a) 9 minutes b) 5 minutes
¢) 8 minutes d 4 minutes

Directions (/24-, -3 six students A,B,C,D,E and F
are sitting in a closed circle facing the centre, E is
to the left of D, C is between A and B, F is between
Aand E.
/41. Whois to the left of B?
a) A b) D
c) E d C



(12 CE¥NFURAe §7 T 7 |2 Who is to the right of C.
a) E b) F a) E ’ b) F
Q) B & A ¢) B o A

faaew (YEa[22-(20) d&t fad ymst f&9 yES  Directions (15-25) what will come in place of
feg (7) St mep/AEs 39 question mark (?) in the following questions?

/(-:"_‘:- 123
a) 28 b) 38 a) 28 b) 38
c) 48 d)y 100 "¢) 48 d 100
4. + 8 20
“ 8 20
134 e o I
7 3 3
5 ] 1
5 o 7 .
a) 17 b) 19
a) 17 by 19 ¢) 12 d 16
c) 12 ’ d) 16
s. y . ! . , z\
"y VAR /7N ‘ ) i \ /
rd 3 / \ / .
A, Y A \l _/l *,\*\ / \\‘ Joe h / \
c) 3 d) 32 e) 30 d) 0

fsgo@w (UEG/..-:7) T5F €3 9 Yus HEE Directions (ji¢ ‘10 each question, choose the
SIS ey ¥ a1¢ ¥'9 feadBut  correct water image of words from amongst the four

a.b,c W3 d fé‘a' BT alternatives gives as a,b,c and d.
J 46 SCIENCE {26 SCIENCE ,
a) 2CIEMCE b) 2CIENCE a) 2CIEMCE b) 2CIENCE
¢) SCIEUCE d) SCIENCE ¢) SCIEUCE d)  SCIENCE
j47. SCHOOL /47 SCHOOL
a) STIOOL b) SDHOO.J a) SOHOOL b) SOHOOJ
¢) 2CHOOI d) 2CHCOL ¢) 2CHOOT d) 2CHOOL



fage® (YF&S (10

-199) 3wt &g are

HYY Direction

§i26-127) In each question, zhoose the

¥ 3la U wT uzﬂﬁhr &3 are 979 feasut  correct mirror image of words
a,b,c M3 d f&3* 87

from amongst the

four alternatives gives as a,b,c and d.

{29 OFFICE I%2: OFFICE
a) ECHY0 by ADITT0 a) ECI110 b)  ADITI0
¢) dCITI0 d) FICIFFO ¢) dCITI0 1)  dCIFFO
i39 CLASS. 29 CLASS !
a) 22A10 by 22ALD a) 22A1D b) 22ALD
¢) 22AlC d) SSALC ¢) 2eAldC. d)  SSALC

30 BF faret St & wfaghar fegor o as1 12

/22 Two positions of a dice are given which number
ferasT vt € (Top) TEam F@ Ta+ (Botton) would be at the top when at bottom is 4?
TH AF 4 T2 -

a) 4 | B3 a) 4 b 3

¢) S d) 6 Q) S 46

fagew (yms /21 - 122)dst f&3 ard fogat & Directions(2/-/22in each of the following sets of
fea f&zs gatnt 578" »@ar o, @wf ¥ figures, sclect the one that is different from rest.

S e R I i B
(1) (2) (3) () (" 12) (3 (@)

~ @@ @E = 0O
1 (2) (3) (4) (1) (2) (3)

(4)

fegew (LaE j22- /" . fagsr @39 f&99, UESE  Directions/ *5 -/ ‘Avhich answer figure will complete
fdge f&e feat aret goste § yor adar? the patteren in the question figure?
123 uRs a9 ' /23. Question Figure:

I AN
o J e
=) l o 7 | \\_: »
CECREEDS Answer Figure:
=
*l E—?] m (2) 13 141
m @ ] ol



124w [F3e: {34+ Question Figure:

S &

CECRCEGE Answer Figure:
a7 AVILN ][4l
(1) (2) 3) (4) @ (3) ()

GEER: (Es |25- 2 8)fgfag fige oS are Dircc!ions(l?s—.i /2kelect the related figure from
feawsut feg g&

135 yns Fge:

the given alternatives.
| 3¢ Question Figure:

DX B -

v
Q‘—s’a IGEGH

~LIJ,L “%&

(1) 2 (3 (4)

Answer Figure:

%

(1) (3) (4)

(56 uRs fege:

. Question Figure:

Answer Figure:

A AN

fagew (YFa |37- ’-3;,;9 fea ae yws fogst o Dircctions(l?'.="’.-'“'~: ?) the: figure in cach of the
3T 5 e sugeE &l dot f&F g9 feasut questions follow a series, select the figure from the

f&g feg gl given aiternatives which would continue the series
|27 W5 fFFe: - j27. Question Figure: |
@s @ @\ 2 @ @ @ 2
CECRCECE | Answer Figure:
(1) (2) (3) (4 (1 (2) (3; (4)




j37, urs f93e:

Qﬂtﬁ\?

SECACECH
ANV AEglive
() (2) (3) )

fseew (Wus 129~ /v.)feaq Tgarars d® smarg
g fo7 Jyet € sw-55 oo famr
fa fésg fes wamfenr foour 3, feo fem
gt {9399 @ migrw dfer famm ararg

gas
fre

| )

g GuEs fag faor satar?
(59 uAs 93

U | @
@'3'6' ICEGH
(316 ®
[1) (2 3] (4)
4o YAS O3
T
e?ﬁ ICERE

{3% - Question Figure:

SiPall>183

Answer Figure:

aNy®

(1)

Dircctions(g_%~J.*_“n)in each question square/circular
paper has been folded as shown with the dotted liues
in the given figures and last figurc shows how the
paper has been cut. How would the paper look like

when unfolded?

/29 Question Figure:

.._.«---. =y

: M 7od ke ?
B 1 : -
@7 weeey
:E i .__;
-

Answer Figure:

“ O 0 00 Q
(oRs}
o o %

A} @ @ (4)

(4o Question Figure:

..... N [
L]

Answer Figure:

o °° J (e
=} 0.
QQ v et »

oo ©

(1) (2) (3) (4)



ftff—fi{.;l_
Direction- " In each question choose the f33eR- (URE|41442) T57 [€F T »iwg w3 s

correct water image of letters and numbers from i Ut @ L@iﬁ'ﬂ €5 ar® 99 feamur 1,2,3m3 4
]
amongst the four alternatives gives as 1, 2,3 and 4 ¥ 871

[41. RAJS89DS 141. RAJS89DS
1) BY128308 2) d"vn283Ds 1) BVY128808 2) d"v1280D&
3) BVI28808 4) Y¥ragaDs 3) BYregaps  4) HVr28aD8
42, monday §42. monday
1) Yyadnom 2) ysbnom 1) yadnom 2) ysbnom
3) Aequow 4) wougquh 3) Aequow 4) WouqgA

Direction- In questions @43-?4!:1J1n each of the [G9vR- (URE)43-444)TsT B3 are et fev &=
following sets of figures select the one that is 39 waint &6 mdar 31 87§ €|
different from rest.

| 43, 143,
|V W v |V | w mawg
1 2 3 4 1 2 3 4
144, QK 32& N ;:1 | 144, ‘X 3412 %& “:1

T 2 3 4 2 3 4

Direction (145-M8) In each of the following questions
there is a relatioship between two letter/word

fEgen- (URs 45-142)75 fad yreT feT (1) & ST s
& niyg/REe /et few g § | AR R € Afan fes @
number on the left of the sign (::). The same G4t frig I 1 9T a1 fexmyr F Wt f .
relationship exists between the two to right of the

sign (:2) of which one is missing. Find out the missing

from alternatives.

145. 29:20::83:? i45. 29:20::83:7
) 22 2) 26 ) 22 2) 26
3) 28 4) 38 3) 28 4) 38
]46. MN:RS::DE:? 46. MN: RS:: DE:?
) KY 2) HI 1) KY 2) HI
) U 4) PQ 3 1 4) PQ
147. DEs20::AK 2 ? 147. DE:20::AK:?
o1 2) 13 IR 2) 13
3) 17 4) 23 33 17 4) 23
148. 23:49::12:7 148, 23:49::12:7
17 2) 19 N 17 2) 19
3) 14 4 13 3) 14 4 13



0 ——————————————————————— T

Dircclinn(“m:IS;QI"I\wre is 0 number series following  F5TeR (1y4-ic2) I& fotr umast (&9 wrat € st fest
a pattern, one place is Ieft blank, Find out the correct aret &, fm & At @ »rurt AET 3 | 9t EF 39S BE
answer from the options, 5 are 99 feasut fed Aat gz I
W8 3,5, 8, 13, 20, viuesssieann 149)  3,5,8, 13,20, v
1 30 2) 31 30 2) 31
3) 42 4) 33 3) 42 4y 33
159 6,12,8,16,10,20,12,24, 14,7 1ce) 6,12, 8,16, 10, 20, 12,24, 14,7
1) 15 2) 16 ) 15 2) 16
3) 28 4) 17 3 28 4) 17
1s1) 400,200, 100, _?7 25 j51) 400, 200, 100, 7 25
1) 110 2} 120 )relle 2) 120
3) 130 4y 50 ‘ 430 4) 50
59 17,19,23,29, 2 ,37 152 17,19,23,29, _2 ,37
1) 31 2 33 1) 3l 2)~ 33
3) 35 4) 36 3) 35 4) 36
-;53-15";2
l)ircc!ion(“ Vhat will come in place of question  fsgem (js2-15%) Jot fatr yast few YRS fég &t
mark (?) in the following questions? HA[T/AET 34 |
15 13 12 ; 15 13 | 12
_ 17 10 13 17 10 13
159 )
8 ? 1 8 ? 1
1) 16 2) 19 I 16 2 19
3 2 4) 21 3 23 4) 21
159) : I154)
1 20 2) 23 1) 20 2) 23
3 29 4y 17 3) 29 4) 17



195 -
@)
S, 4
1) 19 2) 29
3 18 4) 48

l)ircctinu(ft’fé"'”]{\llc letters given below follow a
difinite pattern. Find out the missing letters to
complete this pattern.

jele B8 bGe BBRG b bacaas
1) abb 2)  bab
3) aab 4)  baa
ISHs  savarvs | o T, T 11 1 5 A 71 B A ba
1)  mbabm 2) abmab
3)  mabma 4)  ambbm

Direction (/5%-/“f '+' means '-', =" means '+', 'x'

means '=' and '=' means 'x', then find correct

alternative

158, 16+2-4+28x7
Iy 23 2 32
3) 36 4) 28°

154, 30x3+2+8-10
20 2y 12
3) 24 4 2

J¢o- In certain code language. [f COMMON=DQPQTT
then find the code of PROPER in the same code
language?
1) QTRTVX 2) QTRTIX
3) QRTXIJT 4y  XIRTQT

j&r. If ACELDNRA stands for CALENDAR, what
does LEGIBILE stands for?
1) ELIGIBLE 2) LEGIBLEI
3)  ELIGIBEL 4) LEGIBELI

J62 If Rose = 9-12-8-22
Then Tomy =2

) 8-l1-14-2
2) 7-12-14-2
3) 7-14-12-2
4)  7T-2-12-14

155

2

e

% s
FS
19

78 48

3) 4)

ﬁsa@H('Is.é—vm)ﬁa*fé::rar%n”NTﬁaaThﬂfﬁﬂfa;
gué—w%mva%lmgu?wagwmmme
nidg ygT &9 |

TRIE- T .1 - a8 8. N - R
1) abb 2) bab
3) aab 4) baa
¥ LR B A e am b....... YOY eion Bans ba
1)  mbabm - 2) abmab
3) mabma 4) ambbm

fsgem (157 -/59 ) fad '+ T HIBE -, - ETHEY
l+!’lx| o HI8q 1t "H%"’-" Fm'x‘ﬁ%?;

feasy g€ 1

/5€¢ 16+2-4+28x%x7
) 23 2)+ 32
3) 36 4) 28

/§9. 30x3+2+8-10 .
1) 20 2). 12
3) 24 49H 22

1o, foir &z g feg COMMON & DQPQTT fafy:
T 3T PROPER &r @7 g feg a7 €A/
1) QTRTVX 2) QTRTIX

3) QRTXIT  4) XIRTQT

(¢1. ¥a3 ACELDNRA ¥ W3%9/a% CALEND:
J 3" LEGIBILE B W3®H/83 o7 1

) ELIGIBLE 2) LEGIBLEI
3) ELIGIBEL 4) LEGIBELL
[ £, HEd Rose = 9-12-8-22
I™-Tomy = ?
Iy 811142
2y 7=12-14-2
3) F-14-12.2
4)  7-2-12-14

(2



162 If Wife =43
Then Husband = 7

79
70

2)
il)

16/ Arrange the given words in alphabetical order and

n 6
3 38

choose the one that comes first

1) Cloud 2)  Middle
3)  Grt 4)  Chain

185 Arrange the given words in the alphabetical order
and choose the word that comes in the second place
1) Niger 2)  Narcotic

3)  Ninth 4),  Nemises
166 Jaspal ranks 17th from the top side and from the
bottom side in a class. How many students are there
in the class.

1
3)

In a certain code language meaning of '678' is "good
and beautiful”. Meaning of '456' is "Educational good
movies" and meaning of 352 is "Movies are free”.
How is 'educational' written in that code language.
which digit stands for leaves in that code

) 6 2) 5

3) 4 H 17

34 2) 33
35 4) 32

167.

How many 4s are there in the following number
sequence which are immediately preceded by 5 and

[

followed by 3.

734 543 123432 543 756
1) one 2)

3)  Three 4)
Which one of the following figures represents the
relatioship among student, school and class.

) 2) O
@0 » 94

© @

Two
FFour

163,

16 2 9a7 Wife =43
Ft-Husband =7

1) 69 7 I
3) 38 4) 70
lfaé,fﬁémﬁem%awnma%néga
S froar ufad AEs ' e
1) Cloud 2) Middle
3) Grunt 4)  Chain

Féénwxeamnwaawmmaamg@a

165
& faoar o REs 3 e ol
1) Niger 2)  Narcotic
3) Ninth 4)  Nemises

aaa..mwwmh?@uﬁwn@Ww‘

uw F 17@*%51%%?@?3‘3%
fefenradt 95 |
1) 34 2) 33
3) 35 4) 32

167 f’cﬁ{ &= gHT ‘678’ €T #d¥ ‘good and beautiful’

31456 @ »ag ‘Educational good movies’ T3

(3507 T mMgE ‘Movies are free’ 7| few I few
‘educational’ €T &F O |
) 6 2) 5
3) 4 4 7

co. T8 fehont fe@ faoar ¥3e, Mile, fder »3
feqyre MiaET fesar aia FiT gamger 37
734 543 123 432 543 756
n &7 2) ©
3) f3& 4) U9

¢4, T fefmt feg faoar fdae fefenad, s

w3 et fegars sta T semger I

) @O 2) OOO



/Ty

4

177.

2.

173.

How many triangles are in the given figure 17e. €3 g fogg feg fastt fagwr ax|

[——
1y 20 2) 24 ) 20 2) 24
) 28 4 R 3) 28 v S
Two postitions of a dice are given which number 171 &5 faret St € gt fegmt EITE"\"'H" i
would be at the bottom when at top is 3? Fygar wi@ Jat T29T Had GUT TET M 3 Ts
3 5

6 ¢ 6 4
1) 2) 4 1 2) 4
3) 2 4H 6 : ) w2 4) 6
Choose the word which can be made from the letters )74 f&3 e ma= NATIONAL MEANS I 75 f&hy
of the given word NATIONAL MEANS feg fagzr yae gerfodT # AgeT J1
1) NATURAL 1) NATURAL
2) NORTHERN 2) NORTHERN
3) NOMINATION 3) NOMINATION
4)  NORMALITY 4)  NORMALITY
What is most essential in human? 173. faﬂ;”'é'tf few Iz fafmt feg /g 3 feper 7
1) Teeth 2)  Heart ata? "
3) Eyes 4)  Hand 1) i 2) few

3) it 4) J9

Rajiv starts towards East from any point K. After /7= 3= fai fig K 3 yoa ¥ WEEW?H |
moving 30 meter he turn to his right and moves 10 2°H1eT 98 3" ¥mie T »mud /7 U 17 ﬁ@_
meter. He again turns to his rightand walks 30 metre. M3 10 Heg ¥oer § |t feg wa uw ;_(5?{‘%
He again turns to his right and moves 30 metre. Al I3 30 Hiew Iwer 71 feg o nmiE W HTH

what distance and in which direction is he now from 2 €T J 30 Hies gser J1gTs Qo fig K3 ™

K. oot 3 3 i fae for few 3
D atK, starting point 1) K8y, nrafgar feg 3
2) 10 metre, North 2) 10T, €39

3) 20 metre, West ; 3) 20 )-ﬂEU, UeH

4) 20 metre, North 4) 20 Mted, €39

4.



T

7% A man is facing west. He turns 45° in the clockwise
direction and then another 180%in the same diree-
tion and then 270% in the anti clockwise direction
which direction is he facing now?

1. South 2

West 4,

North-west

3 South-west

[76-
D & [
X v 4
1 2 3 4
| 77
ol [ T
A HA
; I (= Il A
X Y VA
al O [0 0O O
a7 gg = oo
0
m} ol O o o
| 2 3 4
(33
LRI
. !“s: ""m:
x Y ~ Z\u'
O < |ooaa| 0000 (000
< O (10000 10000 (000
]\ 2 /3‘\ 4

pirection(y 4 -/#)JThe figurc in each of the question
allow a series, select the figure from the given
Jernatives which would continue the series.
1772.Question figure

¢ || ) &
A 0 c n
Answer figure
Al )| &
1 2 3 4

15

!7:2ﬁeafemaa’rwfma*ﬁwerﬁywﬁ€r|@awa°r
wwamwww@hg@w
WU@&F@UWWWET@HT%‘EHT
180° ¥ q€ I Jo WF famwrifes @ 270° T §= 3
w=t €t gEbit & Qe ferr F Wy famr 1

67 fenerst far forr & mrans I

. o4 2. Eg5-Uew

3. UeH 4, TyT-UsH
176 -

X Y
l 2 3 4
| ¢
minEinE
A
1 ) | v [ B
X Y
al [ 0 O o
#1128 =] L2
O (e 0O o_ o
1 2 2 4
178
|l Bl
XN YT 2
¢ O |nogo) [0000 (000
¢ O |[H0on| 10000 000
I 2 3 4

fsgem- (139 - 9o ) ) €3 ot ymw s et st §
wal Tul@e et Ist €3 w9 feamut ¥ fox g&:

179, (yms faga)

AREIS
A B c D

(@97 [F39)

Al ) |a
1 . 3 4
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j2a Question figure (YF&S fgsa)
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